


27. fawa 2024 % foru fbm 2w € a7
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(A) ¥ra (B)- &9
(C) mmsfter (D) &=

Which country's chairmanship has |
from January 1%, 2024 for BRICS 2

(B) Hife (A) India (B) Russia
(D) foreaagm (C) Brazil (D) Iran

- the Prime Minister had

to overcome the challenge of 28. =¥ 2016 # EE % 2= RBI (3
hmﬁwiﬂmﬁmﬁp y feord o) & merf ¥ 4

e i Onkshadwecp (A LTI (B) o,

| was | (C) ot wfdvia g (D) o £ gen

Who was ﬂn RBI (Remve Bau




17.

18.

19.

EJ-2

IR WM H “FY He W — ek
¥ T T AT A @ ?

(AT, JEAT 3N frarfires weEd!
(B) Hrat, gy 3t dforh Fread!

(C) ey 3N FRIH
(D) ardt 3 e _
In Uttar Pradesh, the festival of
Mela” is celebrated at the confluence
which rivers 7

(A) Ganga, Yamuna
(B) Kaven, Sarayu

Saraswati

(C) Narmada and Brahmaputra

(D) Tapi and Narmada

T e ey fam el fefer
§ ) ooy Rem & g el wem@
e e 8 weeg it R @ 2

(A) $N (B) e ¥l

() forem (D)- &

The Uttar Pradesh Financial Corporation
(UPFC) plays a key role in providing
financial assistance for the development
of which of the following ?

(A) Agriculture  (B) Healthcare

(C) Education (D) Industries

I NN % 2 TP TN

ek by Fraferfiea o
(A) TEREET  (B) v

(C) 53

The Dudh )
hwa National Park of
Pradesh is located in Whicho Uttar

following districts ? of the
(A) Lﬁgimp : .
(C) Meenapur Kheri (B) Prayagrj

D :
2006 &, HE g i )Shahjahanp;

“Kumbh

ol

and mythical Saraswall

and mythical

B L TP s o
e S

23,

22.

Give full form of NIA.

(A) National Incubation Agency
(B) Naval [nvestigation Agency
(C) New Investigation Agc:u_-,
(D) National Investigation Agen

TSTEe-gnTE e &3 8 W i g
P & fom wm@ g IF o o
sifater &1 AW Fre=fefaa d & w5 a2
(A) HATRIA 3

(B)* AT 7T

(C) ot fosrg

(D) HATRIA Be TWEE

Which of the following is the name
the operation launched by the India
evacuate Indian national
Hamas conflict zone ?

(A) Operation Ajay

(B) Operation Ganga

(C) Operation Vijay

(D) Operation Hot Pursuit

B ¥ H 3ragEw 2023 #, wwa 3
TR A0 3 sl ofk S A
M(ETCA)'EE'WH&;(;‘;;-R_ a3

M i (B)- =TI

N (D) e
Recently m OctObcr 2023. India d

which  neighbour:
e-launched oS

from Israe

countiry

negotiations

iconomic and Technology Coor
£r cement (ETCA] 9

(B) Myanm?
(l)) QI| l ANk

'lA) Maldives

A
.




0 Eafarfes o 8 F)3 397 U
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(A) Bt (qferg omfazers)
(R) romae (gt 3v-fatus)
(C) wfid} (s qiere HTE)
D) i ;'C.'ETH T

Which of the following is the highest

ranking Police Officer in the State of

Uttar Pradesh ? .
(A) DGP (Director General of Police)
(B) PSI (Police Sub Inspector)

(C) ACP (Assistant Commissioner of

Pohee)
(D) DCP
Police)

1. TR W G N Faw w5 fvry a8
2 wuftn R vl v 2
(A) mm {B)mm
© ¥rem (D) W
An account of Government that relates to

the cument financial year only is
mncluded in the

(A) Outcrossed Budget
) Revenue Budger
() Budger
(D) Tex BMS“

L wwe 8 :
S fﬂﬂswnﬁxihm

(Deputy Commissioner of

le.

14.

15.

IT=HTES 399 % e afsqal. s

1 Prefeftga o o g 3 & 37

(A) ]'”.';'—'I.’- =1 (B :'Tl'.l:'-;.--'—',{-'
(C) Bt (D). B e

Urowing vegetables, flowers and fruits
for commercial use is known as which

the following ?
(A) Sericulture

(C) Viticulture

(B) Pisciculture

(D) Horticulture

Fefofas 4 @ wra & fog d2ome =
"I AR E T A A oft ey w2
(A) Hug (B) - ®if

(C) wgmant (D) et

Which of the following port of India is

also known as ‘Queen of the Arabian
Sea' ?

(A) Mumbai (B) Kochi

(C) Mormugao (D) Kolkata

79 2011 ﬁmiwmwﬁmaw
T YT 9

(A) % (B)- 3

(C) o= (D) ¥R

(A) One

(B) Two
(©) Theee (D) Four
b R —

it

g’Wt Frafeviam 4 & fom 2 4 feage
(A) Jrsy (B) uriete
(€) S ®) W
m“@oﬂwgmm “Caves
ofthe Thousand Buddhas” are s, -
Panch of the following countries
(A) Nepa) (B) Thailang
(€) Indig (D) China
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62.

wrarh efarran T ST | TE g fd

FEHR?

(A)- BT WS e
(B) STHT SAHTAEHC

(C) | MH
(D) wfey FEwHHE

(C) T W T I
(D)-3: 8 F Fs & H

hﬁ. Wﬁﬁﬂmmw 2

(A) TH
(C) Thm

TN I N At w5 o e

asmad?

(B) ¥4
(D)-9 =T

(A) R EETREEH D |
(B) Mg kAT

(C)- T 423 3 3 o e

(A) =
(C) fawm

(B) %y
(D) iz

wgan ufaw @ wr

(A) TN
(C) =haré

(A)- v
(C) ¥I%

(B) 2

(D) weferg
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(©)s
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3urshieg 109 a8 @ forn | FEft-mfl 2 w1 =
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T e forelt € | 39 ' wEw R o
T ¥ o g B el ) w w
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65. T Iuge vfiden difvr |

(A) &t - v T

(C) T du ) e

(D) ¥eh g &
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39, f=foilen # @ aaa-aevwa &1 @) o qy |
T 8 ? |
(A)-TT9%
(C) W2 -ugl

AEesh  (B) 37811

(D) iﬁf_;:l

HTE
g

0. Fafefes 9 8 V3w &1 qaqy e )
qe?

(A) &8 (B) 93

(C) ETEHR (D) &

frafiies & @ ‘suadt’ wse %1 gataarsh
INTIEL?

(A)-arfiyatt (B) sifief

(C) I (D) Wit

Q. ‘TS I 9y S F R
= s s ard by
(A) viETss (B) oo
(C) arft (D) g

8. Hven e ymam frae - e %

| Hﬁaﬁ—ﬁzmma%gql

(A)m»ﬁfha (B)- ffsga — sy
© v -#Fm (D) sz -am

U Trafefes i
- 3 @ fom A § gerEt e

w:!wma‘lwmﬂﬁmwuﬁ
|

B) =8 guwm 25 @18 g1 @ |

(©) e & & goret gr g foe |

(D)-9ferw %1 zga # i & 98 w1 wargal
A3 o |

8 Bfefign & 4 fon fawes
- wifem g 5 - R

hw (B) wwife, &
g - I* m)' m.m

41.

1 *

48,

49,

50.

ol

521

(A)- T

Frestferfias 1 & B ara o e 2 T 2
(A) et &) §8:1 =1 AU =T 37Tt

(B)- 1897 fl.‘,.ﬂ_] HEATTE?

(C) Tt qeerep gaedft 3 |

(D) o | gz firft |

‘i sz o o e 2 0
(A)-¥ (B) forg
(C) § (D) 39

AT’ 9788 H e vrez 3t gvet S ard
(A) 89 + 7 (B) 94 +1m
(C)- &9 + 7mm (D) &1+ 1™

fraferfas # & 2% a1 serfraom g -
JETRTT 2 2

: (B) ¥=®

(C) Tyt (D) ¥R

T T, 90 ofe & 3§ ¥ & v
A & 2 {

(A) ﬁqm

A o] W1 WiY- R sy a0
(A) WY +I®E  (B) Y+ I
(C) &Y + ™aa (D) &g + =g

wN a fmfag @

(‘2%3?&‘ JUH WAt a1 3 et
) fadrs .

(C) Formro fag fg: ﬁ%ﬁé;

“fedtn Aot W wfter 2y drar 2 |-
'vmthm?;rﬁil:r:t?w*
(A) vrETEe faggy

(B) - wfmrares fagro
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‘wpfeera e | S 9 il & 9
(A) W (B4
(C) 9 (D) &4

g g it & R e s@ 2

(A) e sl i g R |

@) ¥h B s e AR H weE
o

(C) 3 3R IeTENd T GR1 HHA B
FRRA SR |

D)ih B woa de et F wfa 3@

TEUR SR |

s e i3 frefi e ?
(A) Weagh (B) #ifea

(C) S (D) =OTHE
Feiddasan S F AP EIR?
(A) Fmad! (B) #ios

(C) 3w (D)- FrEwEet
n tHEemEsgshianie

68.

69.

70.

7.

(A) Feremafa (B)-gedfier
(C) v (D) fagriema
3. Bm e § 2 9 | e - 2 9
(A) Fren (B)- -t
(C) wiza (D) fama

. Tfefes % @ g ww @ g
Lockat B

(A) wirn (B guft
- (C) wam (D) afa
%, Tormedes wrez arl 3 wifor &1 el
daaat?
(A) W -5 (B) 91 - #19
(C) w1 e (D) #rg - e
6. 3w i e i e R A
Tmﬁmnmmn
) g (B) g
uﬁ.,‘c"’"u m)dmu

e} T 77
s1d #ifa |
Find the remainder when 17 is divided :
by 4. 4%
(A)l (B)2 (C) 3 (D)0 .4
e3iS 1 -2 15 ¥ O
@ ®t; 15+ 213349 2+§;.-3
15+ 21 x (J9-2#

(B)y63 (C)-718

#1 4 1 Frafora e smo a1 %
ol

Simplify : =2 36

(A) 15
T B
76+03-2
Evaluate : 31.004 — 498 + 0.7034 —
7.6+03-2
(A) 19.4274
(C) 19.4173

31.004 — 498 + 0.7034 -

(B)- 17.4274
(D) 17.4742

& &3l %1 HCF 11 8 3R 361 LCM
609 # | afe F @@ 77 2, ?ﬁ@ﬂm
a shifo | BE =

The HCF of two numbers is ll and their

LCM is 609. If one of the numbers is 77,
find the other number.

(A)81 (B)y87 (C)97 (D)99

@mﬁmmwmﬁw% s
#5:2:4:3F U § Rafa
T & | afe "@en # s @ T 500 Wt
WTH B &, a aften o e Rea R 0

A sum of money is to be distributed
among Abhay, Bina, Chandan and Divya
Ifthc nonof5:2-4-3

T 500 more Divya
WhlliIBim‘:t:hnro? s

(A) T 500 (B) 2 1,000
(€) T 1,500 (D) T 2,000

T fw 6L ol F S, o
x-ummmmmmn

8 et g e A |
Due to reduction of 64

80.

17 * A1

(D]ql ilﬁ* }

(2

=3

("o:-
2 X?
w




83.

84

a

v Ry T 1086 FA @i IR T 6
# 4 % feow @ 4= Ry | g aEM Al I
g wa i |

A vendor bought bananas at 0 for f_]_”
and sold them at 4 for T 6. Find his gain
or loss percent

(A)+10% @™ /gain (B) 10% GTﬁ,’"inss
(C) 8% & /gain (D) 8% &fA/loss

. R i R, 129 ST S W3
G %1 2 1,260 %1 & sam fl 2
¥ What annual instalment will discharge a
" debt of T 1,260 due in 3 years at 12%
simple interest 7
(A) T 325 (B)-% 375
(C) T425 (D) 475

W 3 oS =EER A T 76,000 F FEw
o | 55 T & W, Tl 2 57,000 %
BN 35S 0 98 W | 9§ 309§, Fa
TS 3 N 2 | F IF9e | e e
| s e i e e A e
Manan mnvested T 76,000 in a business.
After few months, Vivek joined him with
¥ 57.000. At the end of the year, the total
profit was divided between them in the
ratio 2 : 1. After how many months did
Vivek join the business 7
B)4 ()5 (DYé6

a3 wg w17 ok %
ham i | h

his
after |7t

inning
everage by 3, Find his av
nning, Erage

88.

89.

g7 % #re fpad 7e 2 2

9. 12, 15, 18, i Lgibebl
I}i‘ulw many lerms ilrt; there betwee
9. 12, 15, 18, eesisn 87 Bt e
A)25 )26 (©27 | |
é!avﬂ%wftmnﬂiﬂaﬁrzoﬁrﬁgnﬁm
anf a1 aftaTd F7a I forewT 8% 3
2y a3 el 3 ST o w2 |

i 52 cm
Th meters of fwo squares are :
an:ic ggﬂm Find the perimeter of a third
square whose area is equal to the difference
of the areas of these two squares.
(A) 228f/em  (B)- 36 Ffi/em

(C) 44¥f/em (D) 48 Fft/em

T et 9 fH/eier i rfer & werd g9 v
g 15 e § e § | g9 F o
(e R

A man walking at the rate of 9 km/hr
crosses a bridge in 15 minutes. The

length of the bridge (in metres) is :
(A)-1250 (B)* 1850
(C) 2250 (D) 2450

Y. H. 91 ¥ 95 : aifeeT ®1 aeme = o
Forerferfiaa et o ww 3
Q. Nos. 91 to 95 : Study the table and answer

the fO“DWing questim




a8 849 Attt 94 9 Py % ot ey =)

3. W, e R g o emssc sl T go |96 s = by
T ¥ MU I ) FE e H | 1294 WTEES 1_:21 5:{;;;{‘;{1!=;.rr[f‘1.rr!§?nm 8
e B ws 9 !‘qja‘_ arler 3k wg o et | l }.:‘!U-.\'I.‘ g diagram which best
Fodl T g0 ¥ 70 Miges Wi IR 6 explains the relationship among given
$o ge fead ot 9 Boys, Athletes, Students
Qut of the total number of products sold A}'@ (B) &
by company ‘T in March, April and (
“ﬂ.\ together, 32% were made of mild @) (:)
steel. What was the total number of mild ©) (D)
steel products sold by company ‘T in |97, aiﬁ'@W HATA ﬁ{y?ﬂ?ﬁﬁ .
March, April and May together ? H A T N1 dled HEF& £
et B) 150 Study the diagram and identify the people
(A) 1 ) 89 who can speak only one language :
(C)-155 (D) 160 At / English
B owEtEsE P, S T R ™
e & S wea = R 7 () \EAE/ &
What is the average number of products %9 / French
2o by company P, 'S’ and ‘T’ in (A) E+F+D _ (B) DTE;m
February (Approximate) (C)«C+A+B (D) G
ﬁw 112 (B) 116 98. A ‘' & e wm R, + w1 o qon -+
(C)-118 (D) 120 1 378 werE @ 3 wad e B, A
- I ‘ 6+20x12+7-1=2 ;
+ R P 3 R gr ¥ T 3m) If "' stands for division, ‘+' stands for
¥ T T w1 he § 3 e T il:imlcllltil:tlin:atil;m,i_-'- nd&‘-?jds for ion
B2 ‘x’ stands for then
R 3 ) e wen @ wam a0 6+20% 1347 Ty
“’Muﬁrmmofdwwulnmnbaof (A)38 B#ST (€) 62  (D)70
Products sold by company ‘P’ and ‘R’ in |99, I'ltﬁ!'ﬂ‘? A& I (X) H wd
Mudlmthcwnumbernfm l‘-h'hgal
S0ld by the same companies in April 7 Gimn mnﬁuwhg the gi
A)=12 17 (B) 40 :95 X from e m
€) 16:19 (D) 59 : 80
" st u i e g
™ g o wen s wwe wb i
e sy @ &9 e sl 61 g | o0,
1 % v o v B 7
5 the difference between the total
"mber of products sold by company 'Q’
" January and May together and the total
“umber of products sold by company ‘R’
ﬁhmmw?
i(gi 76 (B) 85
S X .

éﬂ”*%ﬁ’; -
au
2e¥




101.

102.

103.

104,

108,

syt 1 N u1 EE & d A e |
P Tl T e ®9 @ W@ W EE
UM ?

Which one set of letters when
sequentially placed at the gaps In the
given letter series shall complete it ?
MNO? MNNs Pt NOpPMy OPr

(A) MPMOONP (B) MPONONM
(C)*MPOMONP (D) MPMONOP

fe u fawedt & @ 97 wd fwe o A
AEeN & T H |

Choose the correct alternative from given
ones that will complete the series.
8:13.5:9924.3, 30.(7)

(A)35.5 (B)37.5 (C)38 (D)4l

s e v , v - foan mn 2,
Io% a1 famed % ¥ H IR weg-ym feu
e ¥ | e = 3w g @ o vt
T B HEY A |

e - ad

(A) whfa g (B) forerss : fnan
(Cy 33 (D) oW : F

In the question below, a pair of words is
given, followed by four pairs of words as
altematives. You are required to choose

the pair in which th
pa B i e words bear the

Apostate : Religion

(A) Potentate : Kingdom

(B) Teacher : Education

(C)'Trlitor:Cmmu-y

(D) Jailor; Law

wA g US shyene¢? G al@m
DE : VIHFG - ; BOURN : (7)

(A) CQWTP (B) Cpwsp

(C) DPWSP (DY DOWTP

mmim #9
oy iangles Il?sl:m in the

£ . f= ot SAd] F
106, ek Bt TH @ 1 AL 10 1 iy

107.

gt Hgar & A6 fepet =reren 2, Fo2 2
e & 3ff 15 Tt =& 8, e g g3
2 5t 6 fepeft e 2, T & 3 2 3N
| Rt <reran & | 8 SfE I @A R

gt g?

(A) 16 fdt (B)- 6 &

(C) 25 felt () 12f&ft
A person moves from home position
towards east by 10 km, then turns right
and moves by 6 km, again turns right and
moves by 15 km, as_lain turns right and
moves by 6 km, then turns left and
moves by 1 km. How far the person is
from home position ?

(A) 16 km (B) 6 km

(C) 25km (D) 12km

A fu e w1 § o Fum o I W
[ 31 11 shoifeha & gromd € o # | e
Fy7 3 Freafefes aronst w fEr

T 8 3R Foig S @ & # d awon
HU9 1 Safiea # ;

HU T TG U % A T A = |
R ;

ii %mgmmmmmh
. ¥e 1| SRaITFERE BiEd §
e & o efErs 2| .
(A) aet gron | safifea |

(B)« et g 11 svafifka R |

(©) a3 11 st R |
%D);?ﬁlaﬂtqﬁllﬁﬂﬁﬁatl

n i /

follow%d 1;”{1::%“ asgﬁlr?:“l‘ior?s Sﬂffﬁenf:ﬁ

I and II is given, S
the SIateugem :n‘:lu ﬂ:’: to consider

: followin
assumptions and decide which of the
as?iutl.ppuon 18 implicit in the sll;temuelmtyc
ment : One should not sleep under
a tree at night,
uaptlons_:
clo:hg"“@ leaves may spoil our

Tree gives ow 10XI

I out carbon dioxide at
& &B}lﬁ Which is injurious to health.
S Only assumption [ is implicit.
i B ymumrtionﬂisi:nplicit

ither L or 11 is im licit ;
(D) Neither I nor X

12

W ILis implicit,
P D o g s i R .. p




108.

A1 e e wem 3§ um e st suk A |
I, 11 3% 1V Faifea an ad it 8 |

HHl T8 T w1 & % Y9 /8 o

Toqn’ 7% R/% o ¥ w/d wanih

e /8 3l wegeR v & R fv mo

fameal # R g I 9

YU : ol e el =)
ST &3 B T Ry s wnf o

T

L

] Bl

T | TS o W e 6
faviwsen @ sfem @ oty |

0. & 7% = Wem - =0 %
Y HAE R S v e ST
EiCcRick g F

1l ﬁlﬂ%%ﬁﬁﬁ]%@vmﬁﬁ‘fﬁ

YR 8 |
V. ¥ | 3% 3= Tl w1 37 v 2 |
(A) 99 IV g 2 |
(B) ¥ Il voga # |
(C)-53% I 3% 111 7rem £ |
(D) %% 1 3R IV worem § |
on given below consists of a
Stalement, followed by four arguments
numbered 1, 11, 111 and IV. You have to
decide which of the argument(s) is/are
Song  argument(s) and which is/are
weak'  argument(s) and accordingly
S¢ your answer from the alternatives
Even below the question ¢
ment : Should all the
leachers be debarred from
Private tuitions ?
ments :
L 'No. The needy students will be
deprived of the expentise of these
leachers.
Yes. This is an injustice 1o the
unemployed educated people who

schoaol
giving

“an eam their living by giving
Iuitions

. Yes. Only then nul quality of
leaching in schools will improve.

IV, Yes. ;‘gwnluyufmmuh
reasonable,

(A) Only 1V is strong.

(B) Only 111 is strong,

() Only 11 and 111 ure strong.
gL Only Hand IV are srong, |

»

3. ®, 109 % 113 ; fisferfs e 1 s
[ FERE & A = Ry o guE) & e

| TR
a1 35 @l & foru xvz & g 2

q1E sty vem w0 ) 7 et #

ETIE]

(a)

o

[ ;

() =1 & 8 H1E g ST[al 01 <TEl BT TR

(¢) T=9E yurE A Ush FETE1 79 TEd & 6w B
HifRu |

3 it 3 et 1 St s i el R w2, e

I-W{n:ﬁ.éﬁmmﬁa%m@wﬁ##iq
At BEe I § mam 2, A omen g% &
& 1 W AR |

I S (d) %, S %6 8 v a9 A 59 7 4 g
s &, Arowen d ¥ gayaE T e |

ﬁé&qmmmﬁwﬁmﬁ#feﬁamm

Ame TP T HHS H WS 6l T S

W "E FERE FA R AR FW A o0E

mmﬂ&ﬁtmﬂ%mmﬁnfﬁﬁaaﬁﬁa‘réﬁ

HHAT FT B | ST T 9T | 2 7

ﬂsmgﬁtﬂqﬁmhimﬁmﬁmi

femmm, 2005 ! foufa & armEm feamu # |

Q. Nos. 109 to 113 : Study

% T 8w e vws s gft we et
¢ =k . S ok
T H &8 ¥ 8 a6 a2 O am wen afiEn

| TEHER, 2005 W1 50 @ | J1ftew 3w w1l g i




109, THA -

s pezrr YUTA W U ST T NTH i
Eaeerr B | 398 WTH WA GH HiAATE sfi 2
Wt qm ¢ R EE 6 Wﬁﬂ*émgl
T 4 TS, 1955 W g W I I
35 3 =t v w9 (W) TR
(A) it e wew R Fme |
(R s e ¥ TR YA |
)y v T 3 favia A & fg
wRTER
(D) i s e ame |
Raman has obtained & recommendation
\etier from the Panchayat Pradhan. He
hac seven acres of cultivable land and
can produce collateral of T 8 lakhs. He
was born on 4% July, 1955, He doesn't
have any outstanding loan from the bank.
(A) Advance is not to be granted.

(B} Case is 1o be referred to the General
Manager of the bank.

(C) Data provided is not e to
take a decision. e

(D) Advence is 1o be granted.

110, T2REaE w8 T, 1956 B w0 ) |

3 TR WE A W S
o #1270 T R 5 0 g 4
e I W Twy i

= =wiesE & w1 !smﬁqi“'

wea i &
= | ()

(1) s S 5 s ) S ey |

1C) m““

(Dp ez s h | - S |
has

(D) Data w

B e "

£1-2

111, foire 7@ #1 74 3 'mrr_r,‘ na,,
o | 3 6 R TRS g i 2

iy e S g 0 e "

x| 8 € 10 7S &
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Vinod Rai was born on 3% February,

1956. He has six acres of cultivable land

He has submitted a recommendation

letter issued by the Panchayat Pradhan

He can pledge collateral more than T |/

lakhs. He doesn't have any unpaid loar

from the bank.

(A) Advance not to be granted.

(B) Advance to be granted. Eﬁ

(C) Case to be referred to Gener!
Manager of the bank.

(D) Case to be referred to Chairman 0!
the bank.

12, 3w s %1 91 S 5@, 1957 =1 T o
SR R S R W v v T
3o T g ot

-!Swﬁ_ &% s & wfafEs 7 -

i can plcdgl:
8 in addition © h

mﬂl has an



113, s Tl & Ug By vwe wham wfiy

R | IR TEE WOE @ e 93w
fFn ¥ | W& W s g
(o) 7€ & ) ww avo ot oy w2 wee
T § 198 T 6 W@ ¥ s gufels

WA EFAE |

(A)e 310 7 wg ol e

(B) fm wer favan s |

(C) = &% % wgIEyE 1 Yo e |
@) T IwEmE |

1 Abhishek Rathi has  six acres of
\ Cultivable land. He has obtained a
recommendation the
Panchaya: Pradhan, He doesn’t have any

letter  from

"“Pltdloanfmmtjwbank. He grows
Wo cropr i his entire land. He can

Pioduce collateral more than ¥ 6 lakhs,
W Advance not 10 be granted.
®) Advance 10 be granted.

©) Cate 10 be seforred 10 Ceneesi

Manager of the bunk.
mjn.u.
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You are stationed as a police officer; you

notice a 10 year old child begging at a

busy intersection. As per India's Juvenile
Justice Laws, you should :

(A) arrest and detain him at the police
station.

(B) take him to a government juvenile
shelter home.

(C) inform his parents to take custody.

(D) provifie counselling and issue
warnings.
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You are stationed as a police officer; nots

erupt in a religiously gensitive locality

requiring reinforcement. You should .

(A) order lathi charge if groups pelt
stones violating restrictions.

(B) fire tear gas shells to forcibly disrupt
violent mobs.

(C) work with community elders to
appeal for peace and calm.

(D) conduct preventive arrests of past
wroublemakers.
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You are an Investigating Officer; a riot

political leader requests charges

- g 8 Pmmo(ion. You
should :

(A) pretend 1o give in to the venis after

(%) contuc gt investigation as
() delete any evidenc :
lﬂdqm '”’I'*ﬂm to the
(D) harass gy
mh" " Im mfylng
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As a police officer, you face protests
alleging profiling bias against a minority
community. You should :
(A) enhance surveillance measures to
prevent subversive threats.
(B) acknowledge concerns by reviewing
statistical arrest data trends.
(C) organize community discussions to
understand implementation gaps.

(D) implement diversity quotas in field
force to showcase inclusiveness.
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As a police officer, the primary reason
[ chose this profession is :

(A) The power and authority it provides.
(B) The excitement of catching criminals.
(C) The job security it offers.

(D) The opportunity to serve the nation.

v qfere SRR S w9 H, FTEH A
7@ W & %1 yde 9% TE AEEE
2 | v T # 3u-Frles & o
freffea 3 /@ #9 @ @é & v e

As a police officer, you are required to
wear a rank insignia on your uniform.
Which of the following is the correct
rank insignia for a Sub-Inspector in the
Indian Police Service ?

(A) One star (B) Two stars

(C) Threestars (D) Four stars
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police station in a metropolitan city. You
have been working hard to maintain Jaw
and order and prevent crimes in your
“ea.  However, due to  some
administraiye reasons, you = are
ransferred 1o a traffic police unit where
You have 1 Mmanage the traffic flow and
enforce the rules. You feel that this is a
Waste of your skills and experience, You
shoyld -

(A) protest against the transfer and

You are a senior inspector in-charge of a 121.
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When examining a bombed explosion site,

you find a damaged mobile phone potentially

used as timed detonator. You should

(A) wrap it in paper ensuring no
fingerprints disturbed.

(B) place it inside thick cloth bag
ensuring no further blast damage

() photogragh original  explosion
position before handling, using anti—
static gloves.

(D) first dismantle parts like SIM card
and battery for separate evidence.

demand 10 be reinstated in your .
, g rime boss‘s
n Pl’t'\'wua' ﬂjlc, r&mmynul. WB cw I- I you
(B) accept the transfer as a lemporary advanced e
, Stage cancer. Yoy should -
*thack and hope to get a better (A) temporarily Operational
. Posting soon, ) |°‘d‘i’ﬂhip'~0 take care
:::\?Om influence and contacts o get m‘i l;”l;“ ;:::Ullr focus hoping
{ ourable ransfer to another unit. (©) stra trea
) ﬂd_apt 10 the new role and learn the ' \ m? ly delegate certain
skills and challenges of traffie (D) Em"‘"'u of operation,
- Management, tiwll . news from team
o i RSN Operation completed,
. mm-w‘hmw-hnnﬂﬂhynm-ﬂ.h.‘n‘
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Mr. Tank attended a conference in the
Gty and took a cab back to his hotel.
However, in the rush, he left his

' i the taxi. Fortunately, he
Mangged to note down some details
shout the taxi's license plate with the
belp of 5 nearby security guard,

M:Mr Tank is certain that the plate
Starts with the letter M.

#2: Three bystanders agree that the plate
ends with 78R.

B Four people claim that the second

is either A or B, and another

four people think that the third letter
is§,

"h four license plate numbers below
:',“hm what each person thinks they
' Which one is most likely the license

ﬁnw of the taxi ?
| 1%73& (B) MBATSR
N Mspgg (D) MABT8R

142, 2wy 8 us Hua oft 36 w2 | 3

sharifena 21 et i o & | AveRt e H

& m8 woft Al = weg o 2, g

Pl o s w1 faram e @ i f:rrm

e i a s m/a s A A Ui

s @ fem dir @ 7 @ w0 B

e AT /A R/E

o ;a2 i Reemd s g @
aeit at e f= Sfid | g A e
ferg |

fored

L oft faefedt 3 ah ot gmen @
=/l |

n. 3o fems s off swar & 78
@ |

(A) e e | srgamr s 2 |

(B aet fred 11 Srga s g |

(C) 13 11 3l e @ & |

(D) A7 1 3T & 11 S F@ 2 |

In the question below, a statement

followed by two conclusions numbered

I and II is given. You have to assume

everything in the statement to be true,

then consider the two conclusions

together and decide which of them

logically follows beyond a reasonable

doubt from the information given in the
statement.

Statement ; If gl players play to their
full potential, we will win the
match, We have won the match.

Conclusions :

L. Aﬂplwph;udmwwpmm

1. Bmpllymdidmphytnﬂuir

full potential,

(A) Only conclusion I follows.
(B) Only conelusion 11 follows.
(C) Both I and 1l follow.

tﬂ) Neither I nor I follows.

—-—-mm
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An accurate clock shows 2 o'clock in the
afternoon. Through how many degrees will
the hour hand rotate when the clock shows
6 o clock i the evening on the same day ?
(A} 120° (B) 125° (C) 130° (Dy135°
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There is a cuboid whose dimensions are
4 x 3 x 3 cm. The opposite faces of
dimensions 4 % 3 are coloured yellow
The opposite faces of other dimensions
4. x 3 are coloured red. The oppositc
faces of dimensions 3 x 3 are coloured
green. Now, the cuboid is cut into small
cubes of side | em. How many smal

A ®) 16
€ 20 ©)-24 m

four other
e uj.lns
d. Find that
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Find suitable alternative in place of

guestion mark (7)
Plants

Botany Entomology : (7)

(A) Birds (B) Plants

(C) Insects (D) Snakes

Reeian v § 55 = 23 T | 3
R I 8isF T = fysrand § |
IS R s e # |

(A) Fd (B) 78t

(C) 51 (D)o

In the following question, some words
arc given. They have some common
features except the odd one. You are
required to find odd one out.

(A) River (B) Canal

(C) Stream (D) Pond

. o m i & @ v freg ek
T F) g0 o
Choose the correct alternative from given
ones that will complete the series
5,8, 15, 24, 63, 48, (7)
(A) 88 (B) 92
C) 99 (D) 102

"W fifrn

. F2 W 4, "ZEBRA" w
BYAI" & v o e faan wmm # |
g2 “TORCH" &1 &2 foran amum 2
' 8 centain coqe lunguage, “ZEBRA" s
oded 45 WRBYAJ". How  will
.TORCH“ be written in that same code ?

) Lrry (B) MHRSX
e LGS (D) MHITY
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(A) aftym UG (B 3715
(C) ufoan (DY 3T

o West

Kabir moves 8 km from Fast
to his right and

direction, then he turns
moves 2 km. Again he tumns to his right
and moves 5 km. In which direction is he
from his starting point ?

(A) South-East (B) North-West "
(C) West (D) North A
viien, TR ot 2 | e A
g $t geft sffen & | Fhn fafHaead
CRIE SRR DR R T —
- %“

(A)r¥mE (Bywg
(C) qrdt (D) A
Sheela is Ravi's sister-in-law. Ram is
Ravi's brother. Ram's wife is Sheela.
Deepa is Ravi's sister. Deepa’s mother is
Shanti. How is Sheela related to Shanti 2
(A) Mother-in-law

(B) Daughter-in-law

(C) Grand daughte;
(D) Daughtgr r( %ﬁ%ﬁ 0
afe ez “&érl‘liﬁulfﬁ?ﬁﬂ e sy ¢V

B
"h“
' 2

! ‘word ?
MRVGIEAO
SMVRGEIAO

then what will be the newly
(A)-SMVR (B) §
(©) SMVGRIEAO (D)

s TV -

EJ-2




*ﬂmmmiwlmmﬁaﬂmnﬁ
& wrh) Rvem TR |
Choose the alternative which closely
resembles the mirror image of the given
combination.
JUDGEMENT
(A} TNEMEGDUJ
(B TMAMIDAUL
(C) TWAMIGAUL
(D) LUaoamanT

144, =l s s () # e e gt @
(1), (2), (3) 3M (4) 7 | 7 A FJHh
w sy |

143,

TRINID

Find out which of the figures (1), (2), (3)
and (4) can be formed from the pieces

given in figure (X),

@ 6 @
(B ()
D) (4)

147, ﬁqmﬁgaﬁﬂaﬁﬂmrm¢ 1 frr m
e o6 T E R 2 — .
(. st 2. wam( 770
3, gEmfeen 4 fem :
5 @
Which of the following option would be y
meaningful order of the following words
1. Doctor 2. Fever
3. Prescribe 4, Diagnose
5. Medicine
Iy es (B 23,54,
(C)»2,4,3,5.1 (D) 2,1,4,3,5
148, IABAFT R A=Y
Choose the figure which is different rom
the rest.
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h‘mﬂﬂ and each page has
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